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INSTRUCTIONS

Candidates should read the following instructions

carefully before answering the questions :

1. This booklet consists of 40 pages including this
front page. Verify the Page Nos and Test
Booklet Series on each page and bring at once
to the Invigilator’s notice any discrepancy.

2. Answers will have to be given in the Special
Answer-Sheet supplied for the purpose.

3. Before you proceed to mark in the Answer-
Sheet the response to various items in the Test
Booklet, you have to fill in some particulars
in the Answer-Sheeét as per instructions sent
to you in the Admit Card. De not fold the
Answer-Sheet as this will result in error in
your marks.

4. All questions are of multiple-choice and®ér-
type. You will find four probable answers (A),
(B), (C) and (D) against each guestion. Find

&

out which of the four answers appears to you
to be correct or the best. Now darken the oval
corresponding to the letter of the selected
answer in the Answer-Sheet with H.B. pencil
as per instructions printed on the reverse of
the Admit Card and in the Answer-Sheet.

5. If more than one oval is encoded for a
particular answer, it will be treated as a wrong
answer.

6. There will be negative marking for each
wrong answer.

7. There are blank pages at the end of this
booklet for Rough Work.

8. Work as fast and as carefully as you can. There
are 200 questions.

9. The Special Answer-Sheet along with the
booklet used should be handed over to the
Invigilator before leaving the examination
Hall.

Direction for Questions 1 to 3:

Choose the item closest in meaning to the
underlined word in the given sentences.

1. As a scholar he is almost peerless.

(A) Superb (B) Magnificent (C) Uncqualled
(D) Famous

2. The speaker emphasl?ed the salient points of
the issue.

(A) Relevant (B) Prominent (C) Appropriate
(D) Accurate

3. The old lady is extremely loguacious.

(A) Humorous (B) Talkative (C) Foul-mouthed
(D) Voluble.

Direction for Questions 4 to 6 :

Choose the word most nearly opposite in meaning
to the underlined word of the sentences.
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4. We had a rich diet there.

(A) Poor (b) Plain (C) Simple (D) Lean

5. He had a sharp attack of fever.

(A) Sudden (B) Mild (C) Intermittent (D) Slow

6. He spoke in a whisper.

(A) Shout (B) Murmur (C) Rumble (D) Roar

Direction for Questions 7 to 10 :

Choose the correct Meaning of the underlined
part of sentences.

7. The speaker spoke at length ; in fine he urged
his audience to-be patriotic.

(A) In fine language (B) With a noble gesture
(C) In telling phrases (D) In conclusion

8. He faced a crisis and was in a fix.

(A) Motionless (B) In a difficulty (C) Confused
(D) Dumbfounded
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9. He has been here for years, and should know
the ins and outs of the job.

(A) The secrets (B) All the details (C) Entries
and exits (D) The problems and their solutions

10. The improved tax collections are a shot in the

arm for the country’s economy.
(A) A close-range short (B) A shot-gun blast
(C) A great encouragement (D) At arm’s length.
Direction for Questions 11 to 15:
Choose the best word to fill in the gaps in the

given sentences.
11. The building does not —— to safety

regulations.
(A) Follow (B) Agree (C) Comply (d) Conform
12. He made a —— promise in front of the
temple.
(A) Grave (B) Sober (C) Solemn (D) Serious
13. We do not have words strong enough to

condemn such a foul and —— act of murder.
(A) Dastardly (B) Timid (C) Hateful
() Timorous

14. In company we must always be —.

(A) Social (B) Friendly (C) Sociable
(D) Courteous

15. A — of savages attack the explorer.

(A) Gang (B) Horde (C) Crowd (D) Band

Direction for Questions 16 to 19 :

‘Choose the correct prepositions to fill in the
blanks in the sentences given.

16. Hard work is indispensable —— success.
(A) For (B) At (C) To (D) In

17. Fortune smiled — his efforts.

(A).At (B) Over (C) For (D) On

18. Your conduct is subversive —— all discipline.

(A) Of (B) To (C) With (D) For

19. He is a man in whom you can confide —.

(A) On (B) In (C) Upon (D) With

Direction for Questions 20 to 22:

Choose the correct item for the underlined section
of the sentences from the options given.

20. The President’s visit was called off at the
eleventh hour.

(A) At the earliest opportunity (B) At 11 a.m.
(C) At the last possible moment (D) Shortly before
noon.

21. The team made short work of their opponents.

(A) Disposed of quickly (B) Underestimated the
strength of (C) Avoided working hard (D) Fell short
of

22. The man in the street is opposed to his wdea.

(A) The beggar (B) The pavement-dwclicy
(C) The destitute (D) The average, ordinary man

Direction for Questions 23 to 25 :

Choose the appropriate meaning ol the
underlined section in the given sentences {rom the
options provided.

23. My colleague has an officious naturc.

(A) Formal (B) Official (C) Cantankcrous
(D) Interfering

24. This is an ingenious device.

(A) Skilful (B) Effective (C) Clever (D) Novel

25, The boy has mendacious habits.

(A) Stealing habits (B) Lying tendencics
(C) Prone to begging (D) Over-critical habits
26. 2001 AITE SRCSA TR o s fest
(A) 893 (B) 904 (C) 922 (D) 934
The sex-ratio of India’s population during 2001
was -

(A) 893 (B) 904 (C) 922 (D) 934

27. A, B, C, DRI | C, D-93 (4T 3¢ % B9
A @1 A, C-93 (AT T@ [ FQ IC 7| W
AT GO (R (AT G AR A1 |

(A)D,C,A,B(B)B,A,C,D(C)B.C.A. D
(D)D,A,C,B

A, B, C, D are four friends. C is elder than D but
younger than B. A is elder than C but not eldermost.
Arrange A, B, C, D in ascending order of their age.

(A)D,C,A,B(B)B,A C.D(C)B.C,A.D
(D)D,A,C,B

28. 2001 FAiTa1 SRTea ffeEw-FHba A fzm

(A) 15 (B) 25 (C) 35 (D) 45

The number of Million Cities of India in 2001 was

(A) 15 (B) 25 (C) 35 (D) 45

29. (¥ ©IICET GHICT FLAWT Afe Fu 4
S R T Toer s

(A) T ©IERA (B) 776 I8 (C) &6 B! (D) 776

IS

Who ridiculed the Indian National Congress as "a
microscopic minority of the people’ ?

(A) Lord Dufferin (B) Lord Curzon (C) Lord
Minto (D) Lord Chelmsford.

30, <{f% TR A = TS T

(A) 8,848 fibr (B) 8,567 filtr (C) 8.150 fwiz
(D) 7,990 fiom

The height of the highest peak of the world is

(A) 8.848 m (B) 8,567 m (C) 8,150 m (D) 7.990 m
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31. 10° =t i SRS ?

(A) SR @ fFrera Fieeia 5y (B) wiEwd s
8 b5 SR W (C) (o6 e e s qisid
[ (D) TP 8 GE=! THINAT W)

Ten Degree Channel lies in between

(A) Andaman and Nicobar Islands (B) South
Andaman and Littke Andaman Islands (C) Great

Nicobar and Sumatra Islands (D) Rameswar and
Jaffna Peninsula

32, TR e weR Fel aferarfien.

ST WY A WA A T FI6ifW W A, B, C,
D @ E | 9073 T4 3 B 9% @ 2 & WiZe | 93 sgua
Hrom 8 ZRET= wm frfts wr gwewe S Raw
a (AR | B @3ew AreF| C @3t E 9% fFame
ST | R Ao wet G| A @ a3
R A | B @R D Ritad Aferif = | g wige
Frofm & @

(A)A,B(B)C,E(C)A,E(D)A,D

In last national athlete championship meet at

- Hyderabad, among Bengal team A, B, C, D & E are
5 athletes. Of them 3 are boys and 2 girls. They
participated only in two events—swimming and high-

- jump. But none of them parti-cipated in both events.
B is swimmer. C & E participated in the same event.
No girl participated in swimming. A’s sister was in the
team. B was not a competitor of D. Two girl athletes
are

(A)A,B(B)C,E(C)A,E(D)A, D
33. ‘R o ewbi el @t wRiEe
(A) a4 (B) F=191 (C) 51% (D) ZAWARM

The national Remote Sensing Agency is located
at

(A) Dehradun (B) Kolkata (C) Chennai
(D) Hyderabad

34, T%-S% WICHEAA ATIF (P Bl 2
(A) Bf%t 7@ (B) 7 (C) a1 (D) JEE14
T

Who introduced “Rakhi Vandhan” during Anti-
Partition Movement ?

(A) Aswini Datta (B) Dayananda
(C) Rabindranath (D) Surendranath Banerjee

35. AR Sre-9fum @5 WERE, 2003 @R
s T e
(A) 21 (B) Pme (C) il (D) W<B1

_@&;i}-;ﬁ-.in

The Second India-ASEAN Summit was held iy,
October, 2003, in —.

(A) Bali (B) Singapore (C) Delhi (D) Malta
36. 2001 HE «iowaEa R B
(A) 8 &% (B)9 @16 (C) 10 &® (D) 11 =6

The total population of West Bengal during 2001
was

(A) 80 million (B) 90 million (C) 100 million
(D) 110 million

37. o8 Tl (R #RaS) gW [ Tre F1 F my
ELich

1,3,5,8,9,13,13,18,17, ——.

(A)22,21(B)21,22(C) 23,21 (D) 21,23

In the given number series, what are the numbers
in next two places 1, 3, 5, 8,9, 13, 13, 18, 17, —, —.

(A) 22,21 (B) 21,22 (C) 23,21 (D) 21, 23

38. 2001 A SRTS ArwTSR TR K@

(A) 544% (B) 654% (C) 70-4% (D) 74-4%

The literacy rate of India in 2001 was

(A) 54-4% (B) 65-4% (C) 70-4% (D) 74-4%

39, orfae SR REE- T @ fGeme

(A) =& AT (B) TEMEE S (C) o168 412
(D) "3® 3

Who was the ‘Sarvadhinayak’ of the Tamralipta
Jatiya Sarkar ?

(A) Ajoy Mukherjee (B) Satish Chandra Samanta
(C) Sushil Chandra Dhara (D) Narendra Dev

40. AR =iLw FEA IS @ e
(A) *mirE (B) aret sitsd (C) csii=ite (D) e ed
Who was the first independent King of Bengal ?

(A) Sasanka (B) King Ganesh (C) Gopala
(D) Mahascnagupta

41, (FH TR (40T BT 11 9 FrfeE ¢

(A) 58 Ft9z (B) 78 T2 (C) 273 eejz (D) 330 Jie

In which year was the Saka Era founded ?

(A)58 B.C.(B) 78 A.D. (C) 273 B.C. (D) 330 A.D.

42. 10 5 3z «fefre 100 +@ 3 witR | 9o g
oft Az «fef ara e 10 gm. I 9 A AEm
«#felt 702 o9 surm—afefa e 9 gm 3131 @36
TR S ST T L W ISR IITE FE A5 ST
@AY TA— @ DTS I WA 4 GE |

(A)3(B)4(O)1(D)2



There are 10 boxes. Each box contains 10
identical balls. Weight of each ball of 9 boxes are 10
gms while each ball of remaining box is less weighted
than the others and is of weight 9 gms each. Find the
least number of using an electronic weighing machine
to detect the box contaiming less weighted balls.

(A)3(B)4(C)1(D)2

43, GOl AR T T -

(A) e zv (B) vwerzdl s (C) ooy ooz
(D) c&=ile =l

The source of the Jaldhaka river is

(A) Bidang Lake(B) Chomalhart Peak (C) Zemu
Glacier (D) Jelap La

44, 71 forfe & Refere atafem e

(A) cMredisja Ares (B) 2¥3d (C) «xl=ii=
(D) FqEed

Who issued the Nasik Inscription ?

(A) Gautamiputra Satakarni (B) Harshavardhan
(C) Dharma-pala (D) Samudragupta

45. cnTer T w endiv ey AR
15 =% Bre (AT AfTrm e T TR?

(A) 20 =% 513 (B) 30 &% B3 (C) 25 &% i3l
(D) 22 &% Bl

The ceiling on the election expenditure for the
Lok Sabha has been raised from Rs. 15 lakhs to
Rs. —— lakhs.

(A) Rs. 20 lakhs (B) Rs. 30 lakhs (C) Rs. 25 lakhs
(D) Rs. 22 lakhs

46. VIR WA BeH (@G ¢

(A) e 2T (B) (SANGS! 29T (C) AL AT
(D) AR 2iol®

Which of the following is the source of the
Damodar river 7

(A) Panchet hill (B) Joranda falls (C) Rajmahal
hill (D) Rajrappa falls

47, e @R AT (Are SRS Wi (At
w1 Teiffefs A e

(A) 55 @ Bifeirs w3y (B) wi@l (C) €34+@ (D) 514

The item that earns the maximum foreign
exchange for India is

(A) leather and leather goods (B) spices
(C) pharmaceuticals (D) rice

48. f. Hrepf @Wﬂﬂ?ﬁ@_ﬁ?
(A) FIEEF (B) ®aie Big (C) sHI47 wwm
(D) FAtHa

Who killed Mr. Sanders ?

(A) Rajguru (B) Bhagat Singh (C) Chandra
Sekhar Azad (D) Sukhdev

49. 2001-02 HIT3 SIATSI FF=7 TeoAWH foe

(A) 317 fafema 57 (B) 300 fafermm B (C) 275 fafemm
% (D) 267 fifemm o

The coal production of India during 2001-2002
was

(A) 317 million tonnes (B) 300 million tonnes
(C) 275 million tonnes (D) 267 million tonnes

50. wifdtaa e B ¥ @ Fivr Sfers:

(A) =773 3% (B) BIGR 357 (C) (FIHMIS G
YR T (SR A (D) TR +f S

The index of poverty is prepared on the basis of

(A) Assets distribution (B) income distribution
(C) sub-sistence level of consumption expenditure
(D) employment situation.

51. TR 79 (2 WM —SRCSA WF{‘!TFRF -5
eAfere ¢

(A) 3¢ifEre B2 (B) WifeRlW ¥4m (C) 2w =ifs
(D) e oM

“Sab Lal ho Jayega"—who of the Indian rulers
said this ?

(A) Ranjit Singh (B) Alivardi Khan (C) Haider
Ali (D) Tipu §u1tan

52. wuy wife, e, f&Es o, goaa
RERTG—a2 =% ansf@a +r% 14 Haft Sar sz

(B)
@ (D)

Find the suitable diagram representing — mankin,
Indian, cricketer, footballer :

@ (D) '

PESHA
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53. fapsi ONe) Y 26T7 A9 SIS (FIR THE
aF Frafes

(A) fEree (B) S95aist (C) Siza oy (D) S1Ee
E)]

Which movement started in India after the failure
of the Cripps Mission

(A) Khilafat (B) Non-Co-operation (C) Civil
Disobedience (D) Quit India

54. waiEeE foR gra @ 29 o e e v

(A) #94 oW (B) #|¥11s (C) S« (D) aren
g

Who was the Hindu ruler defeated during the
Second Battle of Terrain ?

(A) Lakshmansena (B) Prithviraj (C) Joypal
(D) Raja Shankar

55. WTO-3 SR =% oz

(A) UNCTAD (B) GATT (C) UNIDO
(D) OECD

The earlier name of WTO was

(A) UNCTAD (B) GATT (C) UNIDO
(D) OECD

56. frsa WG Slares Tidew fZwag ¢

(A) Frits= (B) ooy (C) ezl (D) e

Which one of the following is the longest glacier
of India ?

(A) Siachen (B) Zemu (C) Kolhai (D) Pindari

57. sfEmieea TYNEE A & e

(A) Fg 3 A& (B) 3w B (C) fs. f1. oz
(D) @1 . A% ;

* Who is the Chief Minister of Chattisgarh ?

(A) Nand Kumar Sai (B) Raman Singh (C) V. C.
Shukla (D) S. K. Rai

58. 2002 HITA RMIAICE FIAE 7FFR (F A= 2

(A) =it (B) ezt iféstt (C) woiefi o (D) o1 S

Who has won Dada Saheb Phalke Award of
2002 ?

(A) Pran (B) Hema Malini (C) Aparna Sen
(D) Dev Anand

59. TTACTE T vresl 1o sl I

(A) 3f3 =IrF1 (B) = reFRa (C) Wi 4=
(D) sfirers Fu64

UNICEF appointed Mr. —— as new goodwill
ambassador.

(A) Ravi Sastri (B) Sunil Gavaskar (C) Amir
Khan (D) Amitabha Bachchan
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60. Frefes ita 94y e i Jre ol e 4ol
frura & wifded a2

(A) 3fie (B) SaemBiza (C) v A (D) s
. @

Who recently discovered ancient Buddhist relics
buried under ground in central Asia ?

(A) Marshall (B) Orelstein (C) Dayaram Sahni
(D) R. D. Banerjee

61. SRS (P FH6IF ‘SIE T’ 71 202

(A) 8305 (B) Wa<d (C) frams geers (D) o[
*Hz
~ Which Indian emperor was called “Zinda pir” ?

(A) Aurangzeb (B) Akbar (C) Firuz Tughlaq
(D) Sher Shah

62. s =reifora » s #iew s w ¢
10 8 8
8 [16]1210 [13] 12 10 [16]?
6

14 1 14
Find the number at the sign of of interrogation :

10 8 8

8 [16]1210 [14] 1210 [16] ?
14 16 14
(A) 14 (B) 12 (C) 16 (D) 8
63. (T AHICS TG T SRAfES 7 ]
(A) witama (B) #19i% (C) ta=adt (D) sars!
‘Canada Dam’ is on the

(A) Damodar (B) Kasai (C) Baitarani
(D) Mayurakshi

64. [f3s ©1Fe (Go 2Efm Fer-aa guw TS
@& fermme

(A) =il 7%= 912 (B) (e baene (C) Beaew
W (D) ForasE 9

Who was the first President of the All India Trade
Union Congress ?

(A) Lala Lajpat Rai (B) Dewan Chamanlal
(C) Chittaranjan Das (D) Subhas Chandra Bose

65. A0S Y CATF IR CFRCTY T 2003 AT AR
AR CRIT! T, Ol A

(a) W% (B) (57 (C) 3= (D) (T&TH1

India’s air to air missile, which was successfully
testifired in 2003 is

(A) Astra (B) Tejas (C) Vajra (D) Tejaswini
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66. ASTASR AP @G 74

(A) 2001 &M 73 (B) 25098 @R 71 (C) 3007 @M
@ (D) 350-93 @M 71

The total strength of the Rajya Sabha cannot
exceed

(A) 200 members (B) 250 members (C) 300
members (D) 350 members

67. A, B, C, D 4% 51afs weis w935 Single-leg
F53e wtet (¥EH TR | Al Aol T gaz g9 qAE
3 #TI% 8 1 T (w6 T | A Weilb (18 (U= C WER
i 1-1 TR § I WAAET SREE A5 GRS
AR | B W6 @Il (5@ 3400 #i@H | D-93 @Frs @b
26 ool AT @R (il FEE A 8 C W4, Ao
15 0@ | @I 712 F- S (3@ @A | C 7= A1t @
3 AT (AR | C-9F A D W(Ed (4e C~a3 20 F

e REAfRE ? .

(A) § (B) & (C) #&fer (D) <@l 3783

A, B, C, D are the only teams in a single-leg
football league tournament. Teams are awarded
3 points and 1 point for each win and each draw
respectively. Team A become unbeaten champion,
ending its last match against team C with 1-1 draw.
Team B failed to score any goal. Team D conceded
only 2 goals. 1 each against team A and C. No team
has lost all the three games. Team C got 3 points from
the tournament. The result of the match between
team C and D in favour of C is

(A) draw (B) win (C) loss (D) not possible to
comment

68. TZ-TaTI (st wifem-aq) Tmeell Tre Td

TESALHF :

(A) 1,00,000 (B) 10,00,000 (C) 50,00,000
(D) 1,00,000

The population of a Megalopolis is at least

(A) 1,00,000 (B) 10,00,000 (C) 50,00,000

(D) 1,00,000 |

69. TR CIATSA FIS WZ APl ZrAfRET 7

(A) 33 GTHFR, S58Y, (B) @A G, 3589 (C) vT
e, Y989 (D) SEE WsfB, 584

When was the Indian Independence Act

passed 7
(A) 2 September, 1946 (B) 3 Junc, 1947
(C) 18 July, 1947 (D) 15 August, 1947

70. (T THAFTAL AT IAIGIED “Heq T 7
(A) TR Soige (B) 7uhifd Boagra (C) sawes
Teorgte (D) bifsjn ehgfie

Monazite is found in the coastal sands of

(A) Malabar coast (B) Ratnagiri coast
(C) Coromandal coast (D) Chandipur coast

. ‘@-e-F @ wl I e

(A) EF (B) #-fram (C) B8z 71 (D) qanfafs

‘Fo-Kuo-King’ was authored by whom ?

(A) It-Tsing (B) Fa-Hien (C) Hiuen Tsang
(D) Megasthenes

72. %, F4, A5l gl 8 s—aa3 «faE
15 T ] | SR FRCeR Ol W SRR (A0F (3 WEH
W | (I O Ol 9E e 23| RifR, sreeies,
+{71f%5, Sl G2 SFW TG W A G FF
ARF Aew FE @R AR wAAE e s @I
VO Ae G992 ARE 991 & selE sy e wirae
W 1 T— 0% *iew 6@ | vgl SiEwey 4w
FE A OR@ (AR N SR G SIS g arfee |
SIEE & W AFeR 5T A w9 @ik o A iR
GIEHE G ST T (FIADIES TTS! %% IE A |

FeITETA Tl T G 7

(A) TR (B) &1 (C) afe= (D) 381 &1 7w |

Jayanta, Kunal, Namrata, Anjali and Tanay are
five members of a family. They have their birth dates
from January to May, each member in one of these
months. Each member likes one particular item out
of sweet, chocolate, pastries, ice-cream and dry fruits
for his/her birthday. No two of them like same item,
The one who likes pastries is born in the middle of
the months given above. Anjali does not like
ice-cream but brings chocolates for Jayanta in
February. Tanay who is fond of sweet is born in the

next month immediately after Namrata. Namrata
does not like dry fruits or ice-cream.

In which month Kunal was burn ?

(A) January (B) May (C) April (D) Cannot be
determined

73. EPFIE FHA ACF IRGE @R Fresms ?

(A) wemrel (B) wiaZrel (C) =i ifl (D) @omgs
RG]

Those who benefit from inflation are

(A) creditors (B) debtors (C) wage-earners
(D) salaried classes

74, (T Toid (SR ST “ore) R R
e frafersm ¢

(A) 7€ FHemfer (B) &6 fasiw (C) o€ @f%x
(D) =16 TS

PESHA

Cw.in




R,

Who was the Governor General who decided in
favour of Western education in India ?

(A) Lord Cornwallis (B) Lord Ripon (C) Lord
Bentinck (D) Lord Curzon

75. ORTEA (T =2AE 2003-04 AR B IR
A &I caren a1 TR

(A) T=731%] (B) T893 (C) 7% WR! (D) IR

The Indian city which has been declared World
Book Capital for the year 2003-04 is

(A) Kolkata (B) Jaipur (C) New Delhi
(D) Bangalore

76. ‘resiife wF @ 32H3 WS F ¢

(A) =N =@ (B) F1l Rrsm (C) 3fm are
(D) & o A

Who is the author of the book “Geography of the
Puranas™ ?

(A) Swami Pranabananda (B) Swami
Vivekananda (C) Moonis Raza (D) S. Mazzafar Ali

77. IRDP3 widf ,

(A) Integrated Rural Development Programme
(B) Integrated Road Development Programme
(C) Integrated Regional Development Programme

(D) Tom @RibE
IRDP means

(A) Integrated Rural Development Programme
(B) Integrated Road Development Programme
(C) Integrated Regional Development Programme
(D) None of the above

78. SRTSA (@ F0e0 416 A 2

(A) BEmws sive (B) R (C) & &t (D) &7,
@ TR

Which State of India has two capitals ?

(A) Himachal Pradesh (B) Bihar (C) Uttar
Pradesh (D) Jammu and Kashmir

79. Frfefe @ cifere st T e

(A) ArRafe aftwraa sfiwr (B) ifen ufien
(C) 3 F&iel (D) Boira @mive 7

Which of the following is not a fundamental
right ?

(A) Right to Constitutional Remedies (B) Right
to Property (C) Freedom of Speech (D) None of the
above

80. SHATEA TIST FLATHR (W ST TaqAG) a2
SaReiT W e vaTw Srsfen ¢

(A) F=91el (B) @M% (C) 3T (d) Wure

PESHA
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In which session of the Indian National Congress
did the conflict between the Moderates and the
Extremists reach its climax ?

(A) Calcutta (B) Bombay {C) Surat (D) Madras

81. FAAA oo P wfZ= 7R 2003 AR @EE
“1f EFR o, fof e

(A) @ srgERl (B) fifds 2afi (C) s @
(D) w3z =nfa

The first Iranian and Muslim woman to win the
Nobel Peace Prize, 2003 is

(A) Begam Jahanara (B) Shirin Ebadi (C) Nasrat
Begam (D) Nasifa Al

B2 A9 BY2 S C€e D Y2 @RI AT @&
D-47 ©i% | U¥E B, C-& (F Z91¢

(A) = (B) AR (C) % (D) ©F

A and B are brothers. C & D are sisters. A’s son
is D’s brother. Then how B is related to C ?

(A) Uncle (B) Father (C) Grandfather
(D) Brother

83, wifieiTe WS % o

(A) CeIerab! (B) @WARaf (C) T8 ] (D) foremi

Which is the highest peak of Peninsular India ?

(a) Dodabeta (B) Anai Mudi (C) Mt. Abu
(D) Chikalda

84, Rzet o Aie g i ol a@me

(A) 1885 (B) 1896 (C) 1893 (D) 1866 )

When did Vivekananda found Ramakrishna
Mission ?

(A) 1885 (B) 1896 (C) 1893 (D) 1866

85. SRTTA 50-% GIS[Y beiftba JAFNA (3 (MY
ot spsr clrre?

(A) @%q (W%l (B) o4 fFgz (C) wsidi &om
(D) =019 @eIE

Who among the following has won the Best
Director’s Award in the 50th National Film Awards
declared recently ?

(A) Ketan Mehta (B) Tapan Sinha {C) Aparna
Sen (D) Shyam Benegal

86. 6 (ATF 14 T FOW KR & Frwr wftew
cTifere afdR R eren AR Suee 33 TEn
CFI A2

(A) 1999 (B) 2001 (C) 2002 (D) 2000

The right to education for all between 6 and 14
years of age has been included as a fundamental right

in the Indian Constitution in
(A) 1999 (B) 2001 (C) 2002 (D) 2000




87. 1950 (RIT® 1970 AT T&0 S (70 FealrTl
BIead A qe g (otafes | 93 TER) P

a : Afer orefETs Frem Ao Bafs b : TR
s Fm TS ¢ B SR 3 d - Rfes seE
FER AW I

(A) b8 cHf3F (B) a, b, dﬂﬁas (C) wasfR s
(D) b, ¢, d #féx

It was noticed that the number of school going
students in our country have increased manifold
between 1950-1970. The reasons are

a. the adjoining countries have progressed fast in
education b. Government Policies of free education
c. population explosion d. increase in number of
schools in different localities

(A) b & c are correct (B) a, b & d are correct
(C) All are correct (D) b, c & d are correct

88. ‘Swatch of no ground’ Z&

(A) 9 319 (B) 9% TGN <M (C) 9 Sirsmhi
(D) €% Y=T8 T

What is “swatch of no ground” ? %

(A) An island (B) A sub-marine canyon (C) A
volcano (D) A hanging valley

89, TRFE FRA (T (T2

(A) TIF FBjr= F1e (FEAFEE 249 qeYe
(B) T2 REPRUR & S (c) CIAR (FTARIAR &)
wegE (d) &I bR (FTETHTR & Sieye

Who is Abdul Karim Telgi ?

(A) Main accused in the fake stamp paper scam
(B) Accused in the Bombay blast (C) Accused in the
share scam (D) Accused in the fake currency notes
scam

90. (T {5 cLremars e ke ks
o0 s afeam s

(a) B F%® (B) @l stmi (C) @ife wiea
(D) cefes Fag

Name the cricketer who protested against the
violation of human rights in Zimbabwe :

(A) Heath Strick (B) Henry Olonga (C) Andy
Flower (D) David Smith

91, SRS FRFITHR T HIHA FACS A PoToA
T SIS PR FICE T ¢

(A) 3 3 (B) 5 3%| (C) 7 3%® (D) 10 35/

What is the minimum period of stay for a person
applying for Indian citizenship ?
(A) 3 years (B) 5 years (C) 7 years (D) 10 years

92. SRS ReEa Tl N I 21 2

(A) S fSIGT 21 (B) SrefEe 2! (C) FRemat
GI@MI (D) = 78

Who is regarded as the ‘Mother’ of Indian
revolution ?

(A) Madame Bhikaji Cama (B) Matangini Hazra
(C) Saraladevi Chaudhurani (D) Kalpana Datta

93, (W WETTem Rrai «rwa wiial (ire 2a 9ale
AGATSE e FRATH FOGH RIS T AT ATIG 2

(A) (Il Fifs TwoTR 10 eI (B) (NG Fifoe
TR 15 *eix (C) 6 Fifes swera 5 =roies
(D) Gt fHifoe Wi 7 =@l

To be granted the status of efficial opposition in
a legislature a political party must have at
least

(A) 10 percent of elected members (B) 15 percent

of elected members (C) 5 percent of elected members
(D) 7 percent of elected members

94, IF0RR AL GBI (FIA FCAMRLEA ¢

(A) $=51 (B) @gsta (C) TPt (D) AR

Where did Buddha preach his first sermons ?

(A) Kusinagar (B) Bodh Gaya (C) Kasi
(D) Sarnath

95, 21w oA AfPTANT (ST Y THOIT ST
G 7ol

(A) o 7R (B) i @S 7911 (C) I
@i (D) @3 feiw=l

The first Herbal anti-AIDS drug *Herbtab’ will be
marketed in India by

(A) Veronica Lab (B) Dr
(C) Ranbaxy Lab (D) Astra Zeneca

96. S{WITS! A B fSP ATz Fe! ¢ Wity
@ FEHTF AR FACS ANE ?

(A) 21g+f® (B) Arsgsiel (C) 3y F[ (D) @& 7
FIFE

The powers and responsibilities of Panchayatee
Raj institutions can be revised by the

"(A) President (B) Governor (C) State

Government (D) Union Government

97. Twa fifba 9 A @b e

1,4, 14, 45, 7,422

(A) 139 (B) 137 (C) 237 (D) 210

Find the missing number in the series 1, 4, 14, 45,
7,422

(A) 139 (B) 137 (C) 237 (D) 210

Reddy Lab
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98. WA SRTS AT AR FdeT T T @
e 2
(A) 1950 (B) 1951 (C) 1952 (D) 1953

The first general election of Independent India
was held in

(A) 1950 (B) 1951 (C) 1952 (D) 1953

99. (F e FoI96% 33 O Gefor @Ire A1 (A
oiiferca foicafegeme

(A) 1939 (B) 1940 (C) 1941 (D) 1942

In which year did Subhas Chandra Bose escape
from his Elgin Road residence ?

(A) 1939 (B) 1940 (C) 1941 (D) 1942

100. SRS AT Ja© SIS 97 2H ?

(A) A% P (B) wiwreR ¢Mafé (C) At
(D) =T 37

Who was known as “Grand Old Man of India” ?

(A) Surendranath Banerjee (B) Dadabhai
Naoroji (C) Ranade (D) Ananda Mohan Basu

101. & IR Preri 28 P csr2 o sl
(S

(A) 1905 (B) 1908 (C) 1911 (D) 1916

When was “the settled fact” of Bengal partition
“unsettled” ?

(A) 1905 (B) 1908 (C) 1911 (D) 1916

102. w=-Re’ & e Frafera e

(A) Wieer% oW aifF (B) w2w =ife femt (C) wiga
T[N Wi (D) 923 Wi

Who published “Al-Hilal’ ?

(A) Altaf Husain Ali (B) Mohammad Ali Jinnah
(C) Abdul Kalam Azad (D) Rahamat Ali

103. fFrsre @S wrsiy =i sifauneiz safe e

(A) Besitia #iwfe (B) OIIW #%fS (C) T9 %l
(D) 2= afe

Which of the following is not a method of
estimating the national income of a country ?

(A) Product method (B) Income method
(C) Expenditure method (D) Export-import method

104, SRS TSI FACH (I SR “off Zre -
a2 Wi core Zrfe ¢

(A) F=i1%! (B) W@l (C) @itz (D) @R

In which session of the Indian National Congress
was the demand for ‘Poorna Swaraj’ raised ?

(A) Calcutta (B) Madras (C) Lahore (D) Bombay

105. 2% rsie @R ArwE 93f g FiEere w2

(A) fazia (B) arerge (C) & 207 (D) g

PESHA

Cw.in

Which of the following States grows sugarcane as
a major crop ?

(A) Bihar (B) Rajasthan {L) uttar Pradesh
(D) Punjab

106. FEfafre @R efie Awmast A [
afeffEe crem TraTe?

(A) T3 cafd (B) wfzan (C) swam #fufs
(D) Sotma e e

Which of the following have been given special
representation in.Panchayatee Raj ?

(A) Backward classes (B) Women
(C) Cooperative societies (D) All of the above

107. Tr5a afbr Ty b fagre e vy

(A) 15 (B) 14 (C) 13 (D) 11
The total number of triangles found in the
adjoining figure is

(A)15(B) 14 (C) 13 (D) 11

108. CNfers FEPIZ SRS AR @ (T
TEEE 9| TER?

(A) cnfes afdeas sgr (B) 3R =
frfes Jifes s (C) 933 ©%h@ (D) 42%w
AL

Fundamental Duties have been included in the
Indian Consti-tution in the

(A) Chapter on Fundamental Rights (B) Chapter

on Directive Principles of State Policy (C) Ninth
Schedule (D) 42nd Amendment

109. 1% 3fEW @3 PR, A €@ YA @—IETSH]
GNE G- (& (U SRR ?

(A) 8itve (B) 9K (C) 7@ (D) 7§

“Ram Rahim ek hai, nam dhara hai do”—who

preached during the Sultanate ?
(A) Sri Chaitanya (B) Kabir (C) Nanak (D) Dadu



110. 5% 33 CiPER’ @ = ste

(A) ofSe (zar (B) 22w 330 (C) TEferima (o
(D) @y

Who founded the “School Book Society™ ?

(A) David Hare (B) Hyde East (C) William Jones
(D) Bethune

111. Frsres afeflem st 9wae (s87 aif 24

(A) @fes =g (B) ©fee &R (C) ofte cvtam
A4Ey (D) Epies @

The only vector quantity among the following is

(A) electric charge (B) electric potential
(C) electric field intensity (D) electric resistance

112. I @ GANY ART={EE wfanea ¢ @
b a0 oA

(A) Eedl (B) i 218 (C) itz (&% (D) 5
GHEE

The place where banks settle their mutual claims
and accounts is known as a

(A) Treasury (B) Clearing House (C) Collection
Centre (D) Stack Exchange

113. $fit FAcEER Sl

(A) Besinim 3 (B) &3 AP TRTE3 ST
3% (C) wdtafes Saata s 350 TAE5HE (D) St
BEED

The objectives of land reforms are

(A) increases in production (B) increases in the
purchasing power of rural people (C) economic
development with equity in distribution (D) all of the
above

114. ©RTS3 e dfezifie 7ult @ freme

(A) fafemz (B) 7xiea== (C) vmog Ny
(D) fazFwifie)

Who was the first historical emperor of India ?

(A) Bimbisara (B) Mahapadmananda
(C) Chandragupta Maurya (D) Vikramaditya

115. 2804 W93, 2003 SIeEA R Y2iE-98 FyfERe
FI AT 9o

(A) coibera o 21 (B) Titedl A (C) (ibsT
% 2few ¢ TS A (D) @ERl

On August 28, 2003 terrorists set off blasts in
Mumbai at

" (A) Gateway of India (B) Zeveri Bazar

(C) Gateway of India and Zaveri Bazar (D) Colaba

116. TSI ST afH2 efsisen =156 w2
ST TAE Tl vzm ifE amE Fsfrfe qaae
RIS UG ZATH :

(A) AR AF) (4@ Tg 49FR (B) S FTE=
(C) Wb 7% (D) EeBR Ja%E

Mohammad Ali Qamar won the final at

Commonwealth Amateur Boxing Championships in
light fly weight, has also been awarded

(A) Rajiv Gandhi Khel Ratna Award (B) Arjuna
Award (C) Dhyanchand Award (D) Dronacharya
Award

117. Titba (relsfem St @RS SR gemE oo ?

FILENTTH, BOI, TSR], AR, Qe

(A) AT (B) $o (C) wifafaal (D) aezrean

From the following countries, find one which is
different from other :

Bangladesh, Bhutan, Algeri:'i, Namibia, Angola

(A) Bangladesh (B) Bhutan (C) Namibia
(D) Angola

118. (i e Fifds erares «afb «joff% arey wfars
e

(A) 1972 (B) 1975 (C) 1976 (D) 1977

Sikkim became a full-fledged State of India in

(A) 1972 (B) 1975 (C) 1976 (D) 1977

119. 7' %1 Teewl 7AW 26 w9y

(A) STHA LY SITeia i 7AW (B) €al siaia
AL 20 St SvH-2wie 9609 |l (C) €td Sisdigd
el W (D) 6T Wi Sist 7w

The temperature of two bodies being equal means

(A) their heat contents are the same (B) when
they are brought in contact there will be no exchange
of heat (C) their heat capacities are the same
(D) their specific heats are the same

120. ¢ we pEET GIES 0 TS @RI

(A) €3 (36 7 (B) 93 CWFarad Wi 4s (C) &3
=% (D) ¢4 (3% (IF (F =Y

The magnetic length of a bar magnet means

(A) its total length (B) the distance between is
two poles (C) its width (D) the distance of a pole
from the centre

121. I =2 e oW afm =@ e =1
(A) @s1/%=29-(B) 9@ &6/ @5 (C) 2% T4/%3¢
(D) 24& 3a/Sararsk Jfa

@PESHA.in




Mass of a body is defined by the following
quantity

(A) velocity/acceleration (B) applied force/
velocity (C) applied force/acceleration (D) applied
force/increase in momentum

122. (3 7w A (FI61 wWaFe ¢

(A) C1% (B) Tl (C) 5% (D) R

On which river-bank Kota is located ?

(A) Sone (B) Yamuna (C) Chambal (D) Luni
123. fsfaide @@l afde ARasa s fer
(A) 1951-56 (B) 1966-69 (C) 1969-74 (D) 1978-79

Which of the following was the period of Annual
Plans ? '

(A) 1951-56 (B) 1966-69 (C) 1969-74 (D) 1978-79

124. SIS 35 T 77E QP 5154 I3

(A) fafds smfaw (B) 393 Fwai+ [e 553 s
wige womET (C) Raffe wmi (D) e wri

A magnifying glass or a simple microscope
produces a

(A) Magnified real image (B) Virtual image near

the eye, having the same size as the object

(C) Magnified virtual image (D) Diminished vitual
image

125, i Raet Gifs s@TE

(A) S 7FFR FSA & (B) SIS 5a116d ST
(=% wfswal Rrafew zewm s (C) GG e 7w
sferafrem souw st wfEen fEfiF £ (D) a6k
S (47 99 TR AT G

Sania Mirza has acquired fame for

(A) winning the Arjuna Award (B) being
honoured as the best actress at National Film Festival
(C) becoming the first Indian woman to win a Grand

Slam event in tennis (D) winning the Rajiv Gandhi
KHel Ratna Award.

126. 7% @fafers o= Roas amiers Fsfaie afew
AR wHfeH RER TR TR Sl (A Sy
farare :

(A) T S (B) T3 TAEA @M (C) WreiE
= (D) @3, . s

A special Court at Rae Bareli, in its judgement,

has acquitted the following person from all charges
in the Babri Masjid demolition case :

(A) Uma Bharati (B) Murali Monohar Joshi
(C) Ashok Singhal (D) L. K. Advani

PESHA
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127.P,Q, R, S, T2 U 9% VR Wy R, Q &7
T-<R @16 e, AFFTR #1 1 S Ga2 U 92 w6 e, AfFefz
AR P, R, S 32afF wizs fawms, afeef mitrem

(A)O.R(B)Q.U((C)Q.U(D)T. U

PQ.R.S. T & U are six books. R. Q, T have blue
covers and others have red covers. Only S & U are
new books and the rest are old, P, R & S are Law
books and rest are literature. Which two books are
old literature with blue covers ?

(A)Q.R(B)Q.U(C)Q.T(D)T. U

128, 413! IS w8 Wiy 3fad oy @ b
3t i et Fraferem e

(A) To= S (B) el @i (C) wa# Fhipm
(D) Toitm @mibE 7@

Which of the Committees or Commissions made

recommen-dations for granting more powers and
responsibilities to the Pan-chayatee Raj ?

(A) Jain Commission (B) Mehta Committee
(C) Mondal Commission (D) None of the above

129. (@ *IPTFE SNTE 23 IFS! SRS QAR 7

(A) W1F37 (B) wrawm 9 guaie (C) Tagefim
(D) wr=rsiw R

Ibn Batuta came to India during which ruler’s
reign 7 ;

(A) Akbar (B) Muhammad Bin Tughlaq
(C) Htutmish (D) Alauddin Khilji

130. (5113 6 forecam fa-4reR +i1 e T2 (& [T
FR4

(A) 2 8 foreter s ol f&fen (B) eo o
=R s Rfen (C) Teg e eva T FuN AN
A (D) &Rl 8 foree it 7aw 7@ AW

A bimetallic strip of rion and brass bends while
heated, because

(A) iron and brass have different specific heats
(B) their coefficients of linear expansion are different
(C) while heated their temperatures become different
(D) iron and brass become soft when heated

131. 9% 71 #A14E TS (&4 O TET OrF -
FR @S CIRIE e B FdifEE T e

(a) #He@fs s wEE 4w (B) #9afd wda=
HAGA AT (C) 7o Tl 4RFa (D) B Fomid
AT AFE



% = R e

A piece of stone tied to a string is being rotated
in a vertical plane with constant angular velocity. The
tension of the string will be maximum when

(A) the stone is in the highest position (B) the
stone is in the lowest position (C) the string is

_horizontal (D) the tension is always the same

- 132. SRR IR I SRS TR 7
(A) 1920 (B) 1927 (C) 1935 (D) 1942
When did the Simon Commission come to
India ?
(A) 1920 (B) 1927 (C) 1935 (D) 1942
133, FTHIE (o 22! RIS SISR SF <R 3@

(A) 2ferm Bnes 2HHe=w (B) Tfeam
b foEmm TAFEHEE (C) orgm FnfbfHen=
SRAFREH (D) ToEa @FIAIvE 78

Which of the following estimates the national
income of India ?

(A) Indian Standard Institution (B) Indian
Statistical Institute (C) Central Statistical
Organisation (D) None of the above

134, ) (40 I CONT i fRgh (BT 0o IR

(A) TER && SIS ©F (B) AYLE SRS @5
wfeE T(C) R TR Y S (D) TR I STER
g W ,

When a ship enters the sea from a river, it floats
up because

(A) sea water is warmer (B) the speed of the ship

on the sea is greater (C) the density of the river water
is greater (D) salt water of the sea is denser

135. &% IR T g @i FufaRe @n
NS S NS FER?

(A) T2 (B) GRS (C) Nt (D) sifssrt

The Supreme Court in its judgement on the Best
Bakery case has severely criticised the Government
of

(A) Maharashtra (B) Gujarat (C) Madhya
Pradesh (D) West Bengal

136. AT HIPTRA A 9F A A I TR

(A) FIEFIBI (B) IHfeam (C) Sresiifa@ic
(D) g%

A road has been named after the poet
Rabindranath Tagore in

(A) Kazhakstan (B) Mongolia (C) Afghanistan
(D) Turkey

WBCS Prelim—14

137. A, B, C, D, E @3 F «<f6 cottemaa (6= feica
(5AME 90| F @R C-99 914 ©ite B 1 A I0ATg £ @38
D-<R W4y | F, D-«@ 3fca 4rel A 932 F-493 9I0a @
IR ?

(A)B(B)C(C)D(D)E

Six persons—A, B, C, D, E & F are sitting on
chairs around a circular table. B is between F & C.

A is between F & D. F is to the left of D. Then who
is between A & F ?

(A)B(B)C(C)D(D)E

138, TSR wofd 2er IrAfRLEW

(A) SRINBIS IR (B) AW e (C) =i
T4 (D) & B aefaom

‘Samachar Darpan’ was published by

(A) Bhabani Charan Bandyopadhyay

(B) Tarachand Datta (C) Harish Chandra Mukherjee
(D) J. C. Marshman

139. NF S IATHF (TR ACTF FEEEA (@
Fre I AR «

(A) 2 e (B) MR @ (C) ave o
(D) Frme =

Who was the most famous Bengali journalist who

. championed the cause of Indigo cultivators ?

(A) Harish Mukherjee (B) Sisir Kumar Ghosh
(C) Iswar Chandra Gupta (D) Shibnath Sastri

140. 0°C Taeiz 10 AW 3T ¢ 10°C e 10 &%
e G 29 | e Saee 7@

(A) 1°C (B) 5°C (C) 10°C (D) 0°C

10 gm. of ice at 0°C is mixed with 10 gm. of water
at 10°C. The temperature of the mixture will be

(A) 1°C (B) 5°C (C) 10°C (D) 0°C

141. =5 100 W, 220vﬁwﬁmﬁﬁmmm

(A) 22 %01 (B) 1-1 =0l (C) =71, (D) 22000 =7

The current on a 100 W, 220 V electric bulb is

(A) 22 amp. (B) 1-1 amp. (C) % amp. (D) 22000
amp.

142. 2002 #its ARAER “Afr R wwefifes
Qe ZrAfeE

(A) @ifFe-cs (B) fRe-fo-f e (C) 24
(D) RGN -4

During 2002, the United Nation’s International
Conference on Environment was held in

(A) Tokyo (B) Rio-de-Jeniro (C) Hongkong
(D) Johanesburg

PESHA
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143. (@ TR AW0H SRS I arferen e ¢

(A) wmafast (B) & (C) 1% (D) &iom

India has the largest volume of export trade with

(A) America (B) Britain (C) France (D) Japan

144. (@ ©ia ) faes @ ogrey fes Tata <7
Y

(A) 51 &9 IS (B) 51 89 93 (C) fwd Arwrm
(D) SeifFafés A=

If the length and cross-section of a wire are both
doubled, the resistance will

(A) increase 4 times (B) decrease 4 times
(C) increase tweice (D) remain unchanged

145. TR SRS 0 AN A03R Foisfs :

(A) 22r® TSt +f3Ew (B) T7efie TR Fere=
(C) wRR &5l (D) *NITEPoiEs FIEFS! Ao

Yasser Arafat is the Chairman of the

(A) Iragi National Council (B) Org;anizalion of

amic Countries (C) Arab League (D) Palestine
Liberation Organization

146. ‘= Fer's aAfewrel e

(A) 3re AT W (B) CAEIL 5133 (C) (F*RbH
O (D) Ars=REe 37

The founder of the ‘Atmiya Sabha’ was

(A) Raja Rammohan Roy (B) Devendranath
Tagore (C) Keshab Chandra Sen (D) Rajnarayan
Bose

147, 7R SR 91031 W ZORTR | OO o (T8 e
T ECE B 38T | AERE T SRR (A SFFS
17 TR | O R R W % e v une

ST FIR (NG B 7!

(A) 44 (B) 45 (C) 43 (D) 50

Ayan stood 10th in his class—while Pallab ranked
38 counting from the bottom. Pallab’s result is better

than Ayan. There are 2 students between Ayan and
Pallab.

Total number of students in their class is

(A) 44 (B) 45 (C) 43 (D) 50

148. TasAR-97 (e forem

(A) a7 381 (B) camm ©9rs (C) @i yet (D) fersa
EL]

The leader of the ‘Ulgulan’ was

(A) Gaya Munda (B) Joa Bhagat (C) Birsa

Munda (D) Digambar Biswas
@A,

149, e efem W @ swef (ae oy

(A) TG afy (B) @161 T ER (C) a-afia
(D) st el

Of the following which is different from the
others ?

(A) Cathode rays (B) Photo electrons (C) a-rays
(D) Thermal electrons

150. 93 ye3re we 93fs Fednr fire wrmE
Fode @ SfbmeEe I W 71, o’ I FefERs
B3 e FSim wae

(A) F&FI o417 A (B) 597 (3% =
(C) vuwa3 sif¥tast (D) 9T @

If a magnet is moved fast towards a ccil, the
induced electromotive force does not depend on

(A) the number of turns of the coil (B) pole

strength of the magnet (C) the speed of the magnet
(D) the resistance of the coil

151. = Y= 7aih @b« 35 2fewm @rifice
creal e Fraferem ¢

(A) el g =iz (B) & =itz wera (C) w1
@ (D) corgag =g

Which Mughal emperor granted Diwani to the
English East India Company ?

(A) Bahadur Shah II (B) Shah Alam II
(C) Farrukh Seyar (D) Zehander Shah.

152. 5z iy’ fifba ) ol & 2y

18-07-2002, 25-07-2002, 02-08-2002, 11-08-2002 7

(A) 21-08-2002 (B) 20-08-2002 (C) 19-08-2002
(D) 22-08-2002

In the following ‘date’ series, which will come in
the next place 18-07-2002, 25-07-2002, 02-08-2002,
11-08-2002 ?

(A) 21-08-2002 (B) 20-08-2002 (C) 19-08-2002
(D) 22-08-2002

153. 1946 A= CN-RER oF @

(A) Fo1Te! (B) W (C) @reiE (D) #fas

The Naval Revolt of 1946 started in

(A) Calcutta (B) Madras (C) Bombay (D) Calicut

154. (T I ©RTS AGE] FIeNa S+ TLea o
yferie xmm ame

(A) F{Tha 21w T& (B) F+tha &S 3@ (C) =firha
w81 7% (D) MK T&

Which battle dashed the hopes of Cuplex to
establish an empire in India ?

(A) First Carnatic War (B) Second Carnatic War
(C) Third Carnatic War (D) Battle of Plassey



155. 7eifS sarEss & 9. am $wm ferem
| (A) SRS Aew 2 wiEams (B) swEres et
BThIE @ITE2 AEH TS (C) SrRreR e fHah
wfaa® (D) [ 3 ofaama dew soefe

G. S. Ramchand who recently died was

(A) Former Hockey Captain of India (B) Former
president of Board of Cricket Control of India

(C) Former Cricket Captain of India (D) Former
president of Vishwa Hindu Parishad

156. ‘% (AfGus -3 Fivs (& face

(A) =Reom TS (B) ifream car (C) I we
(D) AR 37,

Who was the editor of “Hindoo Patriot” ?

(A) Harish Chandra Mukherjee (B) Sisir Kumar
Ghosh (C) Madhusudan Datta (D) Rajnarayan Bose

157. 95 @ 76 S @ WY 4% WA R, R,
R, R, (7eW == :

S : «ffb fe aoTva @1e (A3 e e 3g IR

R, : I50ia s & a

R, : ISTHA WENTR 4131 &7 IR

R, : IGTHA eI 7% I

R, : 3T0R SR g e Bfes # cioff ag 7@

vz ol Barem W @R I TR 91 7=
FEA ¢

(A) @%@ R, ¢ R, 7% (B) 3% R, € R,
5% (C) @I R,, R, @ R, 7% (D) *Reeafo wwiikes
Ao

A statement S and four possible reasons R, R,
R, and R, are as follows :

S : All children learn their habit patterns from
their elders by

R, : Considering them as model of behaviour

R, : Observing their behaviour pattern

R, : Imitating their behaviour.

R, : Identifying with and absorbing their values

Which of the following four alternative will justify
the statement ? -

(A) Only R, and R, are correct (B) Only R, and
R, are correct (C) Only R,, R, and R, are correct
(D) All are correct to some extent

158. T 2T 9w 7AfS wiRa #im grafes e
(A) . 5. 31 (B) . wn. s@Rifd (C) zf=mme
ure (D) FaeirE bemaa

Under whose efforts was the Age of Consent Act
passed ?

(A) K. R. Cama (B) B. M. Malabari
(C) Harinarayan Apte (D) Krishnashastri Chiplunkar

159. RIS T ‘SRS (RFATSHE’ = Tw e

(A) 5199 (B) 71 #Ea39 (C) w1ga w@a
(D) wiferafd 2=

Who was popularly known
Machiavelli” ?

(A) Chanakya (B) Nana Farnabis (C) Abul Fazl
(D) Alivardi Khan

160. 2001 7t FifFrem <oz 7w 27 fo=

(A) ffits (B) (SImITS (C) @@ICS (D) Grle S

The percentage of female education in 2001 was
highest in

(A) Delhi (B) Goa (C) Kerala (D) Meghalaya

161. SRR 9o sEifefes am @R e

(A) =57 (B) =@ =t (C) wifiemny (D) ~HigR

Which is the the first linguistic State of India ?

(A) West Bengal (B) Andhra Pradesh (C) Tamits
Nadu (D) Punjab Y

162. (W A SR Pifer e efefe grfeey

(A) 1906 (B) 1911 (C) 1916 (D) 1920

In which year was the All India Muslim League
founded ?

(A) 1906 (B) 1911 (C) 1916 (D) 1920

163. AR5 FEw W T

(A) iR 2= (B) 53 (C) Aores (D) sfFansiei

The highest place of West Bengal is

(A) Tiger Hill (B) Tonglu (C) Sandakphu
(D) Sukiapokir

164. Rl Rz Wiz @R e (@AEe A w7

(A) 7€ %% (B) @8 sEndifi (C) 7€ fasia
(D) =16 F1fag

Who was the Governor General who enacted
widow remarriage in India ?

(A) Lord Bentinck (B) Lord Dalhousie (C) Lord
Ripon (D) Lord Canning

165. TRIRRR (@R T G 7o T Ay s
2H € UNO 5WHj#W #e T ?

(A) #f*sw oy (B) o4 foxa (C) o= feya
(D) &oitae IR 7

Which part of Indonesia became a new
independent nation and a member of UNO ?

(A) West Timor (B) East Timor (C) Central
Timor (D) None of the above

as “Indian
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166. (P SIZFREA 70 (PRI H5amold iz 4fe
FIE -5

(A) 6 TETEI (B) 716 I3 (C) &% o5 (D) 716
fae

During whose Viceroyalty was the Vernacular
Press Acl enacted ?

(A) Lord Dalhousie (B) Lord Canning (C) Lord
Lytton (D) Lord Ripon

167. A, B, C, D 513 @R | A-92 3% B« f5s faes,
-9 T B-93 TR TA1 I% @ | D, B-94 (508
6 TFE TG TG A-(AF 6 IWEF (26| NERF 43 AR
A

(A)243=7, 1837 (B) 183, 12 9= (C) 12 71,

67, (D) 16 =8, 10 IR

A, B, C, D are four sisters, Age of A is just double
that of B, Cis 1} times younger than B, D is 6 years
older than B but 6 years younger than A.

The age of two middle sisters are

(A) 24,18 yrs (B) 18, 12 yrs (C) 12, 6 yrs (D) 16,
10 yrs

168. FEfERe Ifema Ty @ o@rs 3 =
o afezy-Rrdt e 31 swafeEm

©(A) WIS (TR (B) A0wI6% e (C) 210w (st
FMTS (D) CoMoATFR (ST

Who among the following persons described the
British rule in India as ‘Un-British’ ?

(A) Dadabhai Naoroji (B) Ramesh Chandra Dutt
(C) Mahadev Govind Ranade (D) Gopal Krishna
Gokhale

169. <= 3T f*d (U@ e S wRwad 79 @
+ffediTe frm 9= Ao SAwm @R fE wea

(A) #f2F} (4t T3TS (B) Biw ATE (C) bW (=4
Bo1% (D) +{fRdite Amre

A rocket leaves the earth, lands on the moon and
returns to earth. It will require the maximum energy
to

(A) rise from the earth (B) land on the moon
{C) rise from the moon (D) land on the earth

170. A%TT @A I Af¥e 29

(A) ofte sam (B) =fe fiea (C) 3 a1 ==y @1
4rg (D) IFRRE =fE

What is stored in a storage cell ?

(A) Electric charge (B) Electric potential
(C) Lead or some other metal (D) Chemical energy

PESHA
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171. <3 dia gfaw Soarza emfd s

(A) T (AT O [T Tof@ WSaNia (B) «foa
(T (AF R FATT FARARS) (C) O S TFioms
(D) 24 9%

The period of rotation of an artificial earih
satellite

(A) depends on its distance from the earth’
surface (B) is proportional to its distance from the

earth’s centre (C) is inversely proportional to its mass
(D) 24 hours

172. 5187 3133 (R 3@ 9 36 @r=ify am
1976 AR RS A BT B @rers @R =4fe 7
(ATE btz | 99 FER] F1E9 2=

(a) o TS T IR @ (b) 9T
Rerad Toia (TR ST (c) T 43N RS (Wl (e
(d) *I=IIBTFI TRED LI BT AN 2909

aiea Rewefr sy @R aud 3w i FEme

(A) @FITE (a) 73S (B) (I3 (a) € (d) s
(C) 7R=fZ 55 (D) @wemia (a) 8 (b) A

It is noticed that sales of a company producing
cultivation tractor got a boost after 1976 and
increasing every year. The cause behind it is

(a) : mechanised farming coming into vogue
(b) : emphasis on green revolution (c) : prevailing
draught conditions in the country (d) population
movement from urban area to rural area

(A) Only (a) is correct (B) Only (a) & (d) are
correct (C) All are correct (D) Only (a) & (b) are
correct

173. NH 34 @isiicaiel 3

(A) (TSl 2T APHDAE (B) FE1E! Z0E AT
(C) rerere! Tre FfAefe (D) @Rt zrs st |

NH 34 connects

(A) Kolkata with Asansol (B) Kolkata with
Jhargram (C) Kolkata with Siliguri (D) Kolkata with
Bongaon

174, <=6 p-oSh w4-RAZITe oy ofe #fas)
b ?

(A) «fEfbs gz (B) #fafos wrm (C) 2w g
(D) ste s

In a p-type semiconductor, which is the main
carrier of electricity ?

(A) Positive holes (B) Positive ions (C) Electrons
(D) Negative ions '

175. T&ACACEA g A oeebam, 2003 w0
HICH, S A

(A) 26f&= afem (B) ceifim g (C) afdws =i
(D) core Fafsl



Name the Israeli Prime Minister who visited India
during September, 2003 :

(A) Yitzik Rabin (B) Benjamin Mathuy (C) Ariel»
Sharon (D) Dove Sergi

176. ©i7@ 313 63 «ifaa «Hfaema Fife @m s
ErS T ?

(A) 1950 (B) 1952 (C) 1956 (D) 1962

The policy of family planning was adopted by the
Government of India in

(A) 1950 (B) 1952 (C) 1956 (D) 1962

177. MEE] (14T 2T ASNYT WHAT 9%
FTAREA ?

(A) C¥%l (B) WITwETT (C) 5= (D) GifF it

Where did Gandhiji first launch the Satyagraha

Movement ?
(A) Keda (B) Ahmedabad (C) Champaran
(D) Chauri Chaura

178. SIS (1A STFIGR 518 202
(A)WW(B)F'#H@W (C) FrRen GEH
(D) garf g

Where is safforn cultivated in India ?

(A) Dun Valley (B) Chambal; Valley (C) Kerewa
Terrace (D) Duars Plain

179. @6 3BRY 2y v e ere e

(A) Fafexfe faa aiate (B) afie =fe wafes g
(C) aifti *fe aqeT= ZAres T (D) R ¢
it «fea =g T

A raindrop falls in air with an uniform velocity

(A) its potential energy remains constant (B) its
mechanical ‘energy is conserved (C) its mechanical

energy is being transferred to the atmosphere (D) the
total energy of the drop and air decays

180. 335 (AEsfere sifexfe

(A) T2 % 20 Al (B) 2fe «dita 4% I 40 =
(C) 710 SER <0 28 (D) 7 7R 4

In simple harmonic motion the kinetic energy

(A) is never zero (B) becomes zero twice in every
period (C) is zero in the mean posmon (D) is always
constant

181. (i AfRZi e @ Ao s Rk

(A) T e%3 (B) =r%a 673 (C) TaeR 87
(D) =rgroerE SIpfed eaig

~ The specific resistance of a conductor depends on

its 7

(A) length (B) width (C) temperature (D) shape
of the cross-section

182. 53 aw el sty (S S (T

s, M, 73w, 7

(A) 9% (B) @@ (C) amifsl (D) @l

Which of the following colours does not match the
sequence ?

Violet, Brown, Green, Red

(A) Green (B) Red (C) Brown (D) Violet

183, w202 FuiEred] wa 3 e zrafem v

(A) 1922 (B) 1934 (C) 1936 (D) 1939

When was the Congress Socialist Party formed 7

(A) 1922 (B) 1934 (C) 1936 (D) 1939

184. 9 TesifE o w13 @@

(A) SR S HAETaI” 503 (B) WiteT S
pIFR OF% (C) WA IR Fw (D) WEnsa
FoRER GG Al

The production of shadow proves that

(A) light travels approximately in straight lines
(B) light is an electromagnetic wave (C) light is a typc
of particle (D) light does not diffract

185. AFafere wifesjg R oiffdfr W o= few

e e e
(A) W6 25 (B) 6 20 (C) =6 15 (D) 6 22
When does the UN observe World Water Day ?
(A) March 25th (B) March 20th (C) March 15th
(D) March 22nd

186. SraTeA vferew 5 za—

(A) TR (B) T % (C) «raife (D) ey
Gisf

The southernmost point of India is

(A) Kanniyakumari (B) Indira Point
(C) Dhanushkodi (D) New Moore Island

187. SIATEA (TR ATACe WAy @ e ¢

(A) =g (B) ¥2RIE (C) coiran (D) st

Which State of India records the highest per-
capita income ?

(A) Punjab (B) Maharashtra (C) Goa (D) Delhi

188. A, B, C @2 f&afb e fcn @& Single-les
Fo3A A (¥e TR A Al T @3t ged T
FAF 3 AT 6 1 AT A6 IA| A 7o WIS
S SR g @R C wE & el 3% 2 AnE
(ATACE | B 6 C WA (Y510 B-G2 ATF F &4 TRARY

(A) = (B) srE® (C) § (D) 351 789 77 '

In a single-leg football league tournament. A, B.
C are only three participating teams. Teams are

awarded 3 points and 1 point for each win and each
draw respectively. Team A is unbeaten champion and

@PESHA.in
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team C scored 2 points. What was the result between
teams B and C in favour of B ?

(A) Win (B) Loss (C) Draw (D) Not possible to
comment :

189. TR =i 9w weamsitag i & fesi e

(A) 75 E1gr1 (B) 31514 7o (C) wgraifas sifast
(D) A%3AM ¥elFa

What was the name of the first Bengali
Newspaper ?

(A) Sambad Kaumudi (B) Samachar Darpan
(C) Tattabodhini Patrika (D) Sambad Prabhakar

190. 372 Bww! (ure w=fb 9 (e (rew 77 | WD
e O 3y oo Ffegiere 7w 7=l Wt

(A) “Eiere T Swery €5 (B) +{td Swem S5
(C) #ra (3= ufs Swer T5ta (D) Tl ffewsiaer

Bofa Sz T A

A ball is dropped from a given height. It its
colllision with the ground is fully elastic, it will reach
a height

(A) less than before (B) same as before (C) more
than before (D) height will not depend on elasticity

191. GTR 2fEee Gifeaom D @dr o35 v
FACZER @ (R A | @G 2 TE @

(A) 77 ifeam =2 (B) 70 fdwet cifeam @2
(C) T2 werma cifeam &2 (D) 3 «faweE
cifeam s

In the solar spectrum Fraunhofer lines are seen
in the sodium D wavelength. This proves

(A) there is no sodium in the sun (B) there is no
sodium in the solar atmosphere (C) there is no
sodium in sun’s interior (D) there is sodium in the
solar atmosphere.

192. Zxafe e afoe cxféfba 2’ 2w R adfefa
Coigw ¢

BZA, DYE, GXI, KWM, ?

(A) NUQ (B) OVT (C) PV (D) PVR

Considering English alphabet, what will come in
place of question mark ?

BZA, DYE, GXI, KWM, ?

(A) NUQ (B) OVT (C) PVQ (D) PVR

193. Al ©FS fFa oig g9y Heefe & fEme

(A) 7. & 7% (B) 4R amifva (C) =i wgemm
AT (D) AL @

Who was the first President of the All India
Kishan Sabha ?

(A) N. G. Ranga (B) Sudhin Pramanik (C) Swami
Sahajananda Saraswati (D) Rammanchar Lohia

@PESHA.in

194, T-2-2a3) e ‘wmaraa Agfasia ve
i — @ Tfeten

(A) f&. a. Faet (B) @ffm® (C) Iyl (D) =&

Who described the Din-i-1lahi as “the monumes
of Akbar’s folly” 7

(A) V. A. Smith (B) Elliot (C) Badaoni (D) Fai:

195. (19 0 SRS 3% Ao T=oE 3%a @
‘coenid e v T

(A) 2532 (B) WifE &g (C) Besi (D) wrfifs

Name the country which launched th
“NETWORK INDIA” as a facilitation platform
enhance the economic linkages between the tw
countries in a climate of political will.

(A) Hong Kong (B) USA (C) Singapor
(D) Germany

196. @ “Tiewe{’ TAIGITS T Fraferem ¢

(A) P w8 (B) (SIS (O 718 (C) &0
T4ifE (D) FrTem ficz

Who translated ‘Nil Darpan’ in English ?

(A) Madhusudan Datta (B) Rev. James Lon
(C) Harish Chandra Mukherjee (D) Kaliprasann
Sinha

197. 93T IR ICRG B [AeF, A5 @7z 7
eferaifivery s frafes | Tiss o Ay o
TR (AW T

dm‘ma debalc N

v dance

T G G frerd s et ¢
(A)6(B)6&7(C)1,3,6,7(D)1.3,6
A few students of a college participated in debate

drama and dance competition and is represented i
the diagram

drama / A debate
)
v dance

Identify who participated in dance and debate.

(A)6(B)6 & 7(C)1,3,6,7(D)1,3,6

198. A, B. C % &= (&IN=2 Ty 935G FHeamT
G LRI G2 SoAAE N — (] FERS FS] 3
FUAe 971 3031 | B9 53 =oed e =3 fom ww



g (A7 o7 757 TG ANeH (o5 | A WA B SR,
C-«7 Tea B FwRi 93t B o ICe o7 e st |
CATECE (T AIF 2

(A) A fagann (B) B fieman (C) C faarrard

(D) 71 783 T

A, B & C are three persons..By nature, one is
truthful, one lier and other person is ‘madhyabadi’
who sometimes speaks truth and sometimes lie. When
asked to A, B & C about the nature of B, three
distinct comments arc made by them. As per A & C,
B is truthful and lier respectively and B declared
himself as a ‘madhyabadi’. As per above statements,
which one is justified?

(A) A is lier (B) B is lief (C) C is lier (D) Not
possible to comment

199, f=ferars o1 o= fb Tl 2RI G5t wifFee o
(A) (5 (B) a3l (C) &%= (D) Bferam »ir.

When a helium atom Joses an electron, it -

“converted to a

(A) proton (B) a~barticlc {C) deutcron
(D) helium-ion

200. & 1<l € FAl P 82F A S (=0
vl A

(A) = 1Sl € &F T (B) & ATl ¢ &=+
(C) TIA! #1e] ¢ #1s F=1 (D) ! AT € Fer 72,

If red light is used to illuminate a green el and
a red flower, it will appear as

(A) green leaf and red flower (B) red leat and red
flower (C) black leaf and red flower (D) biack lenf
and black flower
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